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Let A= 3 1 2 B=[ 1 O
1T 0 2 2 0
2 1 1 1 1
C= 2 1 3
2 2 4
o 1 1

1. Linear transformation of A if vector X = (a, b, c)

solution
A= 3 1 2 X a
1T 0 2 b
2 1 1 c
Tx) =a +b 1 +c 2
1 0 2
2 1 1
T(x)4 3al + b c
a 0 2c
2a b c
T(x) = 3a+ b+ 2c
a +0 +2

2a+b+c
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Hence the transformation of

a gives 3a+b+2c
b a+0+2c
c 2at+b+c

2. Find the rank of (B+C) transpose

B+C3 1 0 2 + 2 1 3

2 0 1 2 2

1T 1 3 o 1 1
B+C = 3 1 5
4 2 5
1T 2 4

1 2 2
5 5 4
To find rank
(B+C)T|=3|2 73 -4 1 +1 12
5 j r5 f 515

3(8-10) - 4(4-10) +1(5- 10)
3(-2) - 4(-6) + 1(5 - 10)
6+24-6

Y
N

1220
Hence the Rank of (B+C)T is 3.
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3. Check whether A, B, and C are singular or non-singular matrix.

312

XX

211

|A|=3‘0 2‘1- 'I‘ 1‘2 +‘2J0
1 211 1

=30-2)-11-4)+2(1-0)
=3(-2) -1(-3) + 2(1)
=-6+3+2=-1
-120
-It is a non-singular matrices.

1T 0 2
2 0
T 1

Bl =1 0];—1)21+220
b Tl
Bl=1(0-1)-0+2(2-0)
=1(-1) -0+ 2(2)
-1-0+4
=3
3#0
-It is a non-singular matrices.

2 1 3
2 2
0 1

ICl=2 211—F24+322
LN
ICl=2(2-4)-1(2-0)+3(2-0)
=2(-2) - 1(2) + 3(2)
4-2+6
=0
-Itis a singular matrix.

For A;
|Al=

For B;
Bl =

For C;
IC| =
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